X PRI A KRG, IR A R G0 e I R 58
1N Jy: bl siE) $eft, —fh 60—100kPa.

2B Sy BREEBIEIE . RS Sy, oA B K R BRI RE g B b BE A B R TR 5 bh . AR
ERMERAN, VIHRE, HAKEBITRER, HBUENRZ . B RTBH A 7K 0 BB 21 B 2 il 1
150—200Pa/m G P, ERBOKN, BUER /N,

AR B ) R BRI R MWIEE VLA, HEXEWRE SO0 AR R
MRt MAEREENS SRR, KEEFRFE 2 EERE T HE RN, F2P0E TIERE
Fea A EREE R HEITH ) — A 20 —50kPa Y .

AT RIAOBE Y. 23 D AL R BRI i SR A0, I8 A 2 A A S 2 KK b B0 R ) I O Y R
SCH E MR P B — B I IR R R IR T A TR fRE BE ) S fo VR D BRI SRR . N SR IL SR VEIE
JIBEBUER, WIRTTRHEEIVEREL s A HUEDS, WEHIVEREZE . W1 PN A 0 B o 2 S ST T B )
B B RR N WAL « K RGBT R ALE $>0.3, T2, I8 11 W) fu VPR 1B — A/ T+ 40kPa.

MR UL _E P, AT DO A T B — 1829 100m ) )2 @ S K RGeS 08k, R KSR T i
OEZFES

1.4 KHL4BE /7: B 80 kPa (8m /KK

2B T BUAENLE NIRRT 28, SEKEE. 43K a8 KB M IR /1o 50 kPa; BRI & - i
300m 5L EERH 200 Pa/m, W EE#EH 772k 300*200=60000 Pa=60 kPa; n=% & &ilic i i) = S BE g S B 4
FH 11 50%, W JREBER 718 60 kPa*0.5=30 kPa; FR 4% B 1180 /14 50 kPa+60 kPa+30 kPa=140 kPa

(14m 7K

SRR B . A A A A B — A XL B 0K, OB B 00 45 kPa (4.5 7K
D

4. @I IR IE Y. B 40 kPa (0.4 JKEE)
5. T8, KESGMEISPH 12 M. 80 kPa+140kPa+45 kPa+40 kPa=305 kPa (30.5m 7K#)
6. KEHFE: W 10%M) %4 250, WiFE H=30.5m*1.1=33.55m.
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